

Some Improvement to One Normal Criteria

Zhang Jie, Xu Yan

(School of Mathematics and Computer Science, Nanjing Normal University, Nanjing 210097, China)

Abstract: This paper obtain some normality of families of meromorphic functions allowing the functions to have zeroes but to give additional conditions, which generalize and improve some results of Lin Weichuan and Xu Yan's work. We obtain: if $f(z)f''(z) - a(f'(z))^2 \neq 0$ ($a \neq 1, 1 \pm \frac{1}{n}$) and $f(z)f''(z) - a(f'(z))^2 = 0$ implies $f'(z) = 0$ then f has forms: $f(z) = \exp(\alpha z + \beta)$ or $f(z) = (\alpha z + \beta)^{\pm n}$ ($\alpha \neq 0$). And \mathcal{F} be a family of meromorphic functions in domain D , if each $f \in \mathcal{F}$ has only zeroes of multiplicity at least $k \geq 3$ and satisfies: $f^{(k)}(z) = a(z)$ ($a(z) \neq 0$), implies $|f(z)| \geq A$ and $f(z) = 0$ implies $0 < |f^{(k)}(z)| \leq K$. Then \mathcal{F} is normal in D . Here A, K are positive constants.

Key words: transcendental meromorphic function, normal family, residue

CLC number O174.52 **Document code** A **Article ID** 1001-4616(2006)04-0014-05

一类正规定则的改进

张杰, 徐焱

(南京师范大学数学与计算机科学学院, 江苏 南京 210097)

[摘要] 采用改函数不取零值为可取零值加限制的方法改进了林伟川, 徐焱等人的结果. 得到:

若 $f(z)f''(z) - a(f'(z))^2 \neq 0$ ($a \neq 1, 1 \pm \frac{1}{n}$) 及 $f(z)f''(z) - a(f'(z))^2 = 0$ 蕴含 $f'(z) = 0$, 则 f 有形式 $f(z) = \exp(\alpha z + \beta)$ 或 $f(z) = (\alpha z + \beta)^{\pm n}$ ($\alpha \neq 0$). \mathcal{F} 是区域 D 上的亚纯族, 若每个 $f \in \mathcal{F}$ 的零点重数至少是 k ($k \geq 3$) 并满足: $f^{(k)}(z) = a(z)$ ($a(z) \neq 0$) 蕴含 $|f(z)| \geq A$ 和 $f(z) = 0$ 蕴含 $0 < |f^{(k)}(z)| \leq K$. 则 \mathcal{F} 在区域 D 上正规. 其中 A, K 为正常数.

[关键词] 超越亚纯函数, 正规族, 留数

0 Introduction

In 1995, Bergweiler[1] obtained the following result:

Theorem A Let f be a transcendental meromorphic function of finite order, and $a \neq 1, 1 \pm \frac{1}{n}$. if $f(z)f''(z) - a(f'(z))^2 \neq 0$, then $f(z) = \exp(\alpha z + \beta)$, where $\alpha, \beta \in \mathbb{C}$. Recently, Lin Wei Chuan [2] and Yi Hong Xun excluded the additional order restriction as follows:

Theorem B Let f be a meromorphic function in the complex plane and let $a \neq 1, 1 \pm \frac{1}{n}$, where $n \in \mathbb{N}$, and if $f(z)f''(z) - a(f'(z))^2 \neq 0$, then f has one of the following forms:

- i) $f(z) = \exp(\alpha z + \beta)$
- ii) $f(z) = (\alpha z + \beta)$

Received date: 2006-03-30.

Foundation item: Supported by the National Natural Science Foundation of China(10671093).

Biography: Zhang Jie, born in 1981, master, majored in complex analysis. E-mail: zhangjielaoguai@163.com

Corresponding author: Xu Yan, born in 1964, doctor, associate professor, majored in complex analysis. E-mail: Yan_xu_njnu@yahoo.com

$$\text{iii) } f = \frac{1}{(\alpha z + \beta)^n}$$

where $n \in \mathbf{N}, \alpha \neq 0, \beta \in \mathbf{C}$.

More over they obtain a normal family analogue of Theorem B:

Theorem C Let \mathcal{F} be a family of meromorphic functions in the unit disk Δ and $a \neq 1, 1 \pm \frac{1}{n}$, where $n \in$

\mathbf{N} , if for every $f \in \mathcal{F}$, and $f(z)f''(z) - a(f'(z))^2 \neq 0$ in Δ , then $\left\{ \frac{f'}{f} : f \in \mathcal{F} \right\}$ is normal in Δ .

we note that the result ii) and iii) in Theorem B may be combined by $(\alpha z + \beta)^{\pm n}$ if we weaken the condition $f(z)f''(z) - a(f'(z))^2 \neq 0$ and so we have Theorem 2.

To obtain Theorem 2, we need the following theorem which generalizes Theorem C accordingly:

Theorem 1 Let \mathcal{F} be a family of meromorphic functions in the unit disk Δ and $a \neq 1, 1 \pm \frac{1}{n}$, where $n \in \mathbf{N}$, if for every $f \in \mathcal{F}$, and $f(z)f''(z) - a(f'(z))^2 \neq 0$ and $f(z)f''(z) - a(f'(z))^2 = 0$ implies $f'(z) = 0$, then $\left\{ \frac{f'}{f} : f \in \mathcal{F} \right\}$ is normal in Δ .

And based on this Theorem, the Theorem 2 can be obtained as follows:

Theorem 2 Let f be a meromorphic function in the complex plane and let $a \neq 1, 1 \pm \frac{1}{n}$, where $n \in \mathbf{N}$, $f(z)f''(z) - a(f'(z))^2 \neq 0$ and $f(z)f''(z) - a(f'(z))^2 = 0$ implies $f'(z) = 0$, then f has one of the following forms:

- 1) $f(z) = \exp(\alpha z + \beta)$
- 2) $f(z) = (\alpha z + \beta)^{\pm n}$, where $n \in \mathbf{N}, \alpha \neq 0, \beta \in \mathbf{C}$.

In 1979, Gu[3] proved a conjecture of Hayman as follows:

Theorem D Let \mathcal{F} be a family of meromorphic functions in domain D , k be a positive integer, if for every $f \in \mathcal{F}$, $f \neq 0$, and $f^{(k)} \neq 1$, then \mathcal{F} is normal in D .

Recently, Xu[4] improved and generalized it and obtained:

Theorem E Let k be positive integer such that $k \geq 3$ and K be positive number \mathcal{F} be a family of meromorphic functions in domain D and $a(z)$ be non-vanishing analytic function in D suppose that for every $f \in \mathcal{F}$, and f has only zeroes of multiplicity at least k and satisfies following condition:

- a) $f^{(k)}(z) \neq a(z)$. b) $f(z) = 0$ implies $0 < |f^{(k)}(z)| \leq K$. then \mathcal{F} is normal in D .

The condition $f^{(k)}(z) \neq a(z)$ also may be generalized by allowing $f^{(k)}(z) = a(z)$ at some dots but restrict the values of f at these dots. And we have:

Theorem 3 Let k be positive integer such that $k \geq 3$ and A, K be positive number, \mathcal{F} be a family of meromorphic functions in domain D and $a(z)$ be non-vanishing analytic function in D suppose that for every $f \in \mathcal{F}$, f has only zeroes of multiplicity at least k and satisfies following condition:

- a) $f^{(k)}(z) = a(z)$ implies $|f(z)| \geq A$.
- b) $f(z) = 0$ implies $0 < |f^{(k)}(z)| \leq K$.

then \mathcal{F} is normal in D .

1 Some Lemmas

Lemma 1[5] Let A, B and ε be positive numbers. Let $\mathcal{F} = \{f\}$ be a family of meromorphic functions in domain D which satisfy the following condition:

- 1) $f'(z) \neq 1$
- 2) if $f(z) = 0$, then $0 < |f'(z)| \leq B$
- 3) if Δ is a disk in D and if f has $m \geq 2$ zeros $z_1, z_2, \dots, z_m \in \Delta$, then $|\sum_{j=1}^m f'(z_j)^{-1} - 1| \geq \varepsilon$.

Then \mathcal{F} is normal in D

Lemma 2[6] Let $f(z) = a_n z^n + a_{n-1} z^{n-1} + \cdots + a_0 + \frac{p(z)}{q(z)}$, where a_0, a_1, \dots, a_n are constants with $a_n \neq 0$.

$p(z), q(z)$ are two co-prime polynomials with $\deg p(z) < \deg q(z)$, let k be a positive integer. if $f^{(k)} \neq 1$, then

$f(z) = \frac{1}{k!} z^k + \cdots + a_0 + \frac{1}{(az+b)^m}$, where $a(\neq 0), b$ are constants, m is a positive integer.

Lemma 3[2] Let f be a transcendental meromorphic function with finite order. all of those zeros are of multiplicity (at least) k , and let A be positive real number. if $|f^{(k)}(z)| \leq A$ whenever $f(z) = 0$, then for each $l, 1 \leq l \leq k, f^{(l)}(z)$ assumes any finite non-zero value infinitely often.

Lemma 4[2] Let $\{a_n\}$ be an integer sequence and $a \neq 1, 1 \pm \frac{1}{n}$, where $n \in \mathbb{N}$, then exists a positive number ε such that for each $a_n, |a_n(a-1)-1| \geq \varepsilon$.

Lemma 5[7] Let k be a positive integer and let \mathcal{F} be a family of functions meromorphic in a domain D , such that each function $f \in \mathcal{F}$ has only zeros of multiplicity at least k , and suppose that there exists $A \geq 1$ such that $|f^{(k)}(z)| \leq A$ whenever $f(z) = 0$. If \mathcal{F} is not normal at $z_0 \in D$, then, for each $0 \leq \alpha \leq k$, there exist a sequence of points $z_n \in D, z_n \rightarrow z_0$, a sequence of positive numbers $\rho_n \rightarrow 0$, and a sequence of functions $f_n \in \mathcal{F}$ such that $g_n(\zeta) = \frac{f_n(z_n + \rho_n \zeta)}{\rho_n^\alpha} \rightarrow g(\zeta)$ locally uniformly with respect to the spherical metric, where g is a nonconstant meromorphic function on \mathbb{C} , all of whose zeros have multiplicity at least k , such that $g^{\#}(\zeta) \leq g^{\#}(0) = kA + 1$. Moreover, g has order at most 2.

Lemma 6[4] Let f be meromorphic in \mathbb{C} and of finite order, let $k \geq 3$ be a positive integer and K be positive number, suppose that f has only zeros of multiplicity at least $k, |f^{(k)}(z)| < K$ whenever $f(z) = 0$, and $f^{(k)}(z) \neq 1$ Then

$$1) f(z) = \alpha(z-\beta)^k, \alpha, \beta \in \mathbb{C}, \alpha k! \neq 1$$

$$2) f(z) = \frac{1}{k!} \frac{(z-c_1)^{k+1}}{z-c}, \text{ where } c, c_1 \text{ are two distinct complex numbers.}$$

2 Proof of Theorems

Proof of Theorem 1 Define $h(z) = \frac{f(z)}{1-a} \cdot \frac{1}{f'(z)}, f \in \mathcal{F}$

Then we only need to prove the family $\mathcal{H} := \{h\}_{f \in \mathcal{F}}$ is normal in Δ .

From the definition of h , we have:

$$h'(z) = \frac{af'(z)^2 - f(z)f''(z)}{(1-a)f'(z)^2} + 1.$$

At first, if $h(\zeta) = 0$, then $f(\zeta) = 0$ or ∞ . We consider two cases:

case 1.1 If ζ is a zero of f with multiplicity n , then $h'(\zeta) = \frac{1}{1-an}$.

case 1.2 If ζ is a pole of f with multiplicity m , then $h'(\zeta) = \frac{1}{a-1m}$.

Hence, $0 < |h'(\zeta)| \leq \frac{1}{a-1}$ when $h(\zeta) = 0$.

Secondly we claim $h'(\zeta) \neq 1$.

If $\exists \zeta$ such that $h'(\zeta) = 1$, then $h'(\zeta) - 1 = \frac{af'(\zeta)^2 - f(\zeta)f''(\zeta)}{(1-a)f'(\zeta)^2} = 0$ from case 1.2, we have $f(\zeta) \neq \infty$,

so $af'(\zeta)^2 - f(\zeta)f''(\zeta) = 0$, it implies $f'(\zeta) = 0$ by condition and thus $f(\zeta)f''(\zeta) = 0$.

We consider two cases:

case 2.1 If $f(\zeta) = 0$, then from case 1.1, we have $f'(\zeta) = \frac{1}{1-a} \frac{1}{n} = 1$, thus $a = 1 - \frac{1}{n}$, this is a contradiction.

case 2.2 If $f(\zeta) \neq 0$, then $f''(\zeta) = 0$ and $h(\zeta) = \infty$ thus $h'(\zeta) = \infty \neq 1$, this is a contradiction.

Thirdly, suppose that $\Delta_1 \subset \Delta$ is a disk and h has zeroes $z_1, z_2, \dots, z_m \in \Delta_1$. As above we have: $|\sum_{j=1}^m h'(z_j)^{-1} - 1| = |(1-a)a_m - 1|$, here a_m is an integer number. By lemma 4, there exists a positive number ε such that for each $h \in \mathcal{H}$, $|\sum_{j=1}^m h'(z_j)^{-1} - 1| \geq \varepsilon$. and \mathcal{H} is normal in Δ by lemma 1.

This complete the proof of Theorem 1.

Proof of Theorem 2 A meromorphic function f is called Yosida function if its spherical derivative $f^\#(z) = |f'(z)|/(1+|f(z)|^2)$ is uniformly bounded on \mathbf{C} .

As above we define $h(z) := \frac{f(z)}{1-a} \frac{1}{f'(z)}$.

We claim that h is a Yosida function.

If not, there exists a sequence z_n such that $h^*(z_n) \rightarrow \infty$, write $h_n(z) = h(z_n + z)$ then $\{h_n\}$ is not normal at $z_0 = 0$ by marty criterion. However theorem 1 implies $\{h_n\}$ is normal at z_0 , which is a contradiction.

Thus h is a Yosida function, and $\lambda(h) \leq 2$.

As to the proof of Theorem 1, we have that h is not a transcental function by lemma 3. Thus h is a rational function and $h'(z) \neq 1$. Then h has form $h(z) = a_0 z + b$ or $h(z) = z + \beta + \frac{b}{(z+c)^l}$ by lemma 2, where $a_0 \neq 1$, β, b, c are constants.

Suppose that $h(z) = z + \beta + \frac{b}{(z+c)^l}$, then $\frac{1}{h(z)} = \frac{1}{z} + O(\frac{1}{z^2})$, as $z \rightarrow \infty$, and so $\text{Res}(\frac{1}{h}, \infty) = -1$.

let z_1, z_2, \dots, z_m be the zeroes of $h(z)$, here $m = l + 1$. We note that $h(z)$ has only simple zeroes and so we have:

$$|\sum_{j=1}^m h'(z_j)^{-1}| = \sum_{z \in h^{-1}(0)} \text{Res}(\frac{1}{h}, z) = -\text{Res}(\frac{1}{h}, \infty) = 1.$$

But on other hand $h(z) = \frac{f(z)}{1-a} \frac{1}{f'(z)}$, from the proof of Theorem 1 there exists a positive number ε such that $|\sum_{j=1}^m h'(z_j)^{-1} - 1| \geq \varepsilon$. This is a contradiction.

Thus $h(z) = a_0 z + b$. We consider two cases as follows:

If $a_0 = 0$ then $\frac{f(z)}{f'(z)}$ is non-zero constant since $f(z)f''(z) - a(f'(z))^2 \neq 0$. Hence $f(z) = \exp(\alpha z + \beta)$, with $\alpha \neq 0$.

If $a_0 \neq 0$, then $\frac{f(z)}{f'(z)} = \gamma(z+c)$, we note that $z = -c$ is the only zero or pole of f , then γ must be $\pm 1/n$, thus $\frac{f'(z)}{f(z)} = \pm n \frac{1}{z+c}$ and then $f = (\alpha z + \beta)^{\pm n}$ with $\alpha \neq 0$.

This complete the proof of Theorem 2.

Proof of Theorem 3 If \mathcal{F} is not normal at $z_0 \in D$, then by lemma 5 take $\alpha = k$ and there exist a sequence of points $z_n \in D$, $z_n \rightarrow z_0$, a sequence of positive numbers $\rho_n \rightarrow 0$, and a sequence of functions $f_n \in \mathcal{F}$ such that: $g_n(\zeta) = f_n(z_n + \rho_n \zeta) / \rho_n^k \rightarrow g(\zeta)$ locally uniformly with respect to the spherical metric, where g is a nonconstant meromorphic function on \mathbf{C} , all of whose zeros have multiplicity at least k , such that $g^*(\zeta) \leq g^*(0) = k(K+1) + 1$. Moreover, g has order at most 2.

Let ζ_1 be a zero of $g(\zeta)$ and then by Hurwitz' Theorem there exists a sequence ζ_n , $\zeta_n \rightarrow \zeta_1$. such that

$g_n(\zeta_n) = f_n(z_n + \rho_n \zeta_n) / \rho_n^k = 0$ for sufficiently large n . Thus $f_n(z_n + \rho_n \zeta_n) = 0$, hence $|f_n^{(k)}(z_n + \rho_n \zeta_n)| \leq K$ by condition b). Since $g_n^{(k)}(\zeta_n) = f_n^{(k)}(z_n + \rho_n \zeta_n) \rightarrow g^{(k)}(\zeta_1)$, we deduce that $|g^{(k)}(\zeta_1)| \leq K$.

Obviously $a(z_0) \neq 0, \infty$.

We distinguish two cases:

case 3.1 If there exists ζ_0 such that $g^{(k)}(\zeta_0) = a(z_0)$, it is obvious that $g(\zeta_0) \neq \infty$.

First we claim $g^{(k)}(\zeta) - a(z_0) \neq 0$.

if $g^{(k)}(\zeta) - a(z_0) \equiv 0$, and since g has only zeroes with multiplicity at least k , we have

$$g(\zeta) = \frac{a(z_0)}{k!} (z - \alpha_0)^k$$

and $|a(z_0)| = |g^{(k)}(\alpha_0)| \leq K$ from above discussion.

A simple calculation shows that: $g^{\#}(0) \leq k/2$ if $|\alpha_0| \geq 1$ and $g^{\#}(0) \leq |a(z_0)|$ if $|\alpha_0| < 1$ both contradicts $g^{\#}(0) = k(K+1) + 1$. So $g^{(k)}(\zeta) - a(z_0) \neq 0$.

Near ζ_0 , we have

$$g_n^k(\zeta) - a(z_n + \rho_n \zeta) \rightarrow g^{(k)}(\zeta) - a(z_0)$$

by Hurwitz' Theorem again there exists a sequence $\zeta_n, \zeta_n \rightarrow \zeta_0$, such that for sufficiently large n :

$$g_n^{(k)}(\zeta_n) - a(z_n + \rho_n \zeta_n) = 0.$$

Hence $f^{(k)}(z_n + \rho_n \zeta_n) - a(z_n + \rho_n \zeta_n) = 0$.

Form condition a) we have that $|f_n(z_n + \rho_n \zeta_n)| \geq A$.

Hence $g_n(\zeta_n) = f_n(z_n + \rho_n \zeta_n) / \rho_n^k \rightarrow \infty$, and $g(\zeta_0) = \infty$, which is a contradiction.

case 3.2 If $g^{(k)}(\zeta) \neq a(z_0)$, we may assume $a(z_0) = 1$, then by lemma 6 g has form :

$$\alpha(z - \beta)^k, \alpha k! \neq 1 \text{ or } \frac{1}{k!} \frac{(z - c_1)^{k+1}}{z - c}, c \neq c_1.$$

we can exclude the former similarly as in case 3.1. We just consider the latter case. Since g has only zero c_1 with multiplicity $k+1$ this contradicts g_n has only zeroes of multiplicity k .

This complete the proof of Theorem 3.

In Theorem 3, it is easy to find out that the condition a). $f^{(k)}(z) \doteq a(z)$ implies $|f(z)| \geq A$ can be replaced by

$$f^{(k)}(z) + a_1(z)f^{(k-1)}(z) + \cdots + a_k(z)f(z) = a(z) \text{ implies } |f(z)| \geq A.$$

here $a_1(z), \dots, a_k(z)$ are analytic functions in D .

[References]

- [1] Bergweiler. On the zeroes of certain homogeneous differential polynomials[J]. Arch Math, 1995(64):199-202.
- [2] Lin Weichuan, Yi Hongxun. On homogeneous differential polynomials of meromorphic functions[J]. Acta Mathematica Sinica, 2005(1):261-266.
- [3] Gu Y X. A normal criterion of meromorphic families[J]. Scientia Sinica Math Issue, 1979(1):267-274.
- [4] Xu Yan, Fang Mingliang. On normal family of meromorphic functions[J]. Aust Math Soc, 2003(1):155-163.
- [5] Bergweiler. Normality and exceptional values of derivatives[J]. Proc Amer Math Soc, 2000(129):121-129.
- [6] Wang Y F, Fang M L. Picard values and normal families of meromorphic function with multiplicity zeroes[J]. Acta Mathematica Sinica, 1998(41):743-748.
- [7] Pang X C, Zalcman. Normal families and shared values[J]. Bull London Math Soc, 1995(18):437-450.

[责任编辑:陆炳新]